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1. Evaluate.

a) |-5| b) ‘2%‘ ¢) |-6.7|
3

=5 =2z =6.7

2. Rearrange these numbers in order from least to greatest.

3 35 25 A /i)
>4, 3B |38, =27, —% ; |%M

—4, -a7, ] (], g7, [l

3. Evaluate each expression.

=

a) |-7 — 2| =,_q/ b) |-3+11 -6 = l:;_(
= q =2
¢ 5/-3.75] d) [52— 7| + |-10 + 27|
= {815 =(8B+4+2 = 20

4. A school group travels to Mt. Robson Provincial Park in British Columbia to hike the
Berg Lake Trail. From the Robson River bridge, km 0.0, they hike to Kinney Lake, km 4.2,
where they stop for lunch. They then trek across the suspension bridge to the campground,
km 10.5. The next day they hike to the shore of Berg Lake and camp, km 19.6. On day three,
they hike to the Alberta/British Columbia border, km 21.9, and turn around and return to the
campground near Emperor Falls, km 15.0. On the final day, they walk back out to the
trailhead, km 0.0. What total distance did the school group hike?

Ad = [4270] = 42 & adg=[0.0-150]=I5k,
Ad, = ]“),5‘%2(:613 ko G{ﬁa{: T,
Ady= [19.6-105]= %l k. +6.9415
Ade= | al?-(96]=23k. = 738 bn

A dg = 1150 —2/.9| = 6.9¢,,



5. Consider the functions f(x) = 2x + 3 and g(x) = |2x + 3.
- a) Create a table of values for each function, using values of -4, -2, 0, 2, and 4 for x.
b) Plot the points and sketch the graphs of the functions on the same coordinate grid.
¢) Determine the domain and range for both /' (x) and g(x).
d) List the similarities and the differences between the two functions and their

corresponding graphs. (X)
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¢) Domain and range for both f(x) and g(x).
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6. Write the piecewise function that represents each graph.
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7. Consider the functions f(x) = 8 — x* and g(x) =8 — x7|.
- a) Create a table of values for each function, using values of -4, -2, 0, 2, and 4 for x.
b) Plot the points and sketch the graphs of the functions on the same coordinate grid.
¢) Determine the domain and range for both /' (x) and g(x).
d) List the similarities and the differences between the two functions and their

corresponding graphs. e
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¢) Domain and range for both f(x) and g(x).
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8. a) Explain why the functions ' (x) = 3x* + 7x + 2 and g(x) = |3x* + 7x + 2| have
different graphs.
Tha fund’t‘ohs have df]cf"e"t 9""’1"\5 because Ao
oyfj;np\ Smfk jbes bdow "f‘ﬂ_o. X=0XiS T/\e QbSole‘E Va(kﬂ.
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b) Explain why the functions f(x) = 3x* + 4x + 2 and g(x) = [3x* + 4x + 2| have

identical graphs.
—he functions  have fhe same j’*"f}‘ becaise
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9. Solve each absolute value equation. Express answers to the nearest tenth, when

necessary. . /(
a)|2x—2|=9 B[ =g1 Clied
CASQ@ c r CG“—@ [{2'74_4/_(
c hedd ~ 2x22 =19 2y =- 743%x- | 743x=-xt\!
2x=!] 2 X =" 2x=-8 w=-6_ |14:32)#-
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10. In coastal communities, the depth, d, in metres, of water in the harbour varies during
the day according to the tides. The maximum depth of the water occurs at high tide
and the minimum occurs at low tide. Two low tides and two high tides will generally
occur over a 24-h period. On one particular day in Prince Rupert, British Columbia,

the depth of the first high tide and the first low tide can be determined using the
equation |d —4.075| = 1.665.

a) Find the depth of the water, in metres, at the first high tide and the first low tide
in Prince Rupert on this day.

h‘qh T.‘c(e= (mex) [ow tide : (w‘"" >
d-4075= /665 d—4015 = /645
d= 519 m d=2.$‘/m

b) Suppose the low tide and high tide depths for Prince Rupert on the next day are
2.94 m, 5.71 m, 2.28 m, and 4.58 m. Determine the total change in water depth

that day.
Ac, = [274-57] = 2.7Tm ot Chopge >
AC, = |5T1-2.28] = 3.¢3,, (R.77+3¢3t2.3)»

ACs= |28 —48|= K3 m = 8.5m
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L on the same grid.

11. Sketch the graph of the corresponding reciprocal function, y = I
' X

Label the asymptotes, the invariant points, and the intercepts. T QYIL(‘C aé aS/”' e
b) : , |

Sketch the graphs of y =f(x) and y = ﬁ on the same set of axes. Label the
X
asymptotes, the invariant points, and the intercepts. O= (X- 5)( X=\ )

c x)=2x-3 d) f(x)=x*—6x+5
) f()= erhé‘&(r&féx) ) /&) . +VA'
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